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(vi) 6 37H] F F¥] 3 IT ATHT 200 ] 7 fo7@ T T30 |
(vii) Yo% 97 & G YT @ IR T GrY 7@ 7 F1ET |

1. for fxfla =@ S0 =19 &1 Y 991 371 SRl o [EYTaE § sruedar g

INRGH AT ST 2 1
(A) =T SiRkgH (B) Tt Shifew
(C) =™ SiRkgw (D) S90S | W hIE Ta!

2. fomer G v oY fafiee & sried 2 | et s o @t e Rgeid s @ | fomer T
1 G 1 T el H Webdt qu iy T o st 3 wmee wenfid s 8 | 98
B & e o o0 S8 % THTeR0T & 3Heh THTH ohl fagetyor oft shidl 2 | Te bl d8

WA R T s 2, 98 2 1
(A) I=ER (B) HeH &R
(C) ST &1 (D) Tl AEH e TeTe &R

3. Hefim qen i 378 g ¢ | Sifdes afsrr I @ T 38 3= Tora aTel &Sl <
Tersha =1 SreET™ TRy Tkt | o Tfestdl o sftsil sht 200 TohE TEaTferd ot @ 8 ST &4l |,
STSAshAT AT B o TSl YT § 3T & o f7T 3ued & | Tey 3UNHT 37l < Wi
el g3 T o 0T, 3%k SISl shl Wi ShIhT e ¢ |

I9UR § Ifld sATerETRies 9ieRuT T ARM B 1
(A)  ATRie gfeor (B) TStfoes qatewor
(C) dmmTRTeh gt (D) I /e wfeR
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Read the following instructions very carefully and strictly follow them :

General Instructions :

(1) This question paper contains 34 questions. All questions are compulsory.
(1t) Marks are indicated against each question.

(iti) Answers should be brief and to the point.

(iv) Answers to the questions carrying 3 marks may be from 50 to 75 words.
(v) Answers to the questions carrying 4 marks may be in about 150 words.
(vi) Answers to the questions carrying 6 marks may be in about 200 words.

(vit) Attempt all parts of a question together.

1. The risk related to inability to meet fixed financial charges like interest

payment and other repayment obligations is known as : 1
(A) Operating risk (B) Financial risk
(C) Business risk (D) None of the above

2.  Bimal Rai is working in Funny Bunny Ltd. The company manufactures
games and toys for children. The basic task of Bimal Rai is to integrate
diverse elements and coordinate the activities of different departments. He
also analyses the business environment and its implications for the
survival of the firm. The level of management at which Bimal Rai is

working is : 1
(A) Top level (B) Middle level
(C) Operational level (D) Both Middle and Operational level

3. Salim and Karim are good friends. They started a business of selling high
quality seeds for growing organic vegetables. They are offering 200
varieties of vegetable seeds suitable for terrace gardens, balconies and
backyards. Due to the growing trend towards healthy consumption habits,
there i1s a huge demand for their seeds. The dimension of business

environment being discussed above is : 1
(A) Economic Environment (B) Political Environment
(C) Social Environment (D) Legal Environment
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4. A TH seifdeh SR GG TRl § | 98 Th R HIdH! o Geu A& § T @l 3
R T Y3 Toham T o7 | 39 IMEH o Touur Yereres 3 offed ol aqmn fo o =T
gfaen, TewEE i gfadm qun 31 gga -t giaumd YeH Hid 8 Sl TR-91 5T B a2l
IR B o Tfe s11vg Fmr ferenfira s o wErar et § |
Iuerd feafa o femue Yererss g afd foavm 1 s 2 1
(A) 3HTE T FITh a7 forehmd
(B) fauom faee
(C) e wweld HaTg
(D) e

5. Tr=feiRaa @ @ o 91 vy fouom i fomivar ‘T vgfa’ & g T ot 2 2 1
A) Tafma & foru wr-a-u i vaii 6t wrfierd 2 stevas § |
(B) ¥k U&T i 3T U&T o TTe ol TR ohid bl Tadadl T8l g1 Iey |
(C) Tc¥eh U1 ol TTel ol Tleh X i <hl STEAT BIHT T8 |
(D) T < TTT S 981 1 GHL 981 i his Joagad ag o H T&H BHT e
2

6. T ST&h IUWIHIT <h T ITRETRIET H H Teh § hael HehIehd aoqu GRIGHT FiTeh 4
OIS ST ST Y& L & |
et feu e o o weh IUMeRT g0 <@ S el TUTeT JHTUTeh HTeh shi U : 1

(A) 373 TH 3718 A (B) wHH

(C) ®lemmeh (D) UH dt 37/ T TH TH T 377§ Wik
givaTiRm wdrafft < for

e 31Ut 9 ht I b fote et wlie =madt @ | et @iied auy frefefead # 9
g S T IUTeT 0Teh W :

(A) HHA/THFWETUAEHAG  (B) 373 TH 318 Ak

(C) giawmes (D) 3HETh
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4. Shridhan wanted to purchase an electric car. He visited a retail showroom
of a car company where these cars were displayed. The Marketing Manager
of this showroom told Shridhan that the company offers credit facilities,
maintenance services and many other services that help in bringing repeat
sales and developing brand loyalty for their cars. The marketing function
being discussed by the Marketing Manager in the above case is 1
(A) Product Designing and Development
(B) Marketing Planning
(C) Customer Support Services
(D) Branding

5.  Which of the following statement is correct with respect to ‘Exchange

Mechanism’, a feature of Marketing ? 1

(A) For an exchange it is necessary that there should be involvement of
atleast three parties.

(B) The parties do not have the freedom to reject other parties offer.

(C) The acceptance of the offer for each party has to take place on the
basis of compulsion.

(D) For an exchange it is necessary that each party should be capable of
offering something of value to the other.

6. One of the responsibilities of an aware consumer is to buy only
standardised goods as they provide quality assurance. Identify the quality
certification mark to be seen by a consumer in the picture given below : 1

(A) ISI Mark (B) Agmark

(C) Hallmark (D) FPO/FSSAI Mark

For Visually Impaired Candidates :

Madhu wants to buy Jewellery for her daughter’s marriage. Which of the
following quality certification mark should she look for while buying

Jewellery :
(A) FPO/FSSAI Mark (B) ISI Mark
(C) Hallmark (D) Eco-mark

*66/1/1* e [ P.T.O. ]
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7. Trafafea # @ o= ar vy gfagfa v fafm i o qrerres s @i 2 1
(A) grETHE td I SR SFagii W gfaey e |
(B) iadt/ 3ATdTeh SR W F=01 ST 9T 39 JehR o 8N W &8 oM |
(C) wfayfa sToR 4 3fad e g SER-SfedT i SgraT ¢ |
(D) T M¥ehIvT STTATRL Gsft STSIR o forenféra i o foT sheH 3o |

8.  ¥gl <l YA feu U &, 31U (A) YT SR (R) | 1

ARe (A) : e zrew T 311 R wTe oht I &1 3TTeeh W § Wfed i hi
HATTTFhel BTt a1 3ot & 3fres shrfsfiet doft <1 smarwrehar arft |

ST (R)  : 3fc = 01 [fdes ®9 1 3uetsy &1 a1 2 a1 o= Tl o WRI Wish
I TR I |

= few e ferepeut # | HEl ferehed 1 9 iR

(A) IRTHY (A) T 2 AT HIT (R) T § |

(B) MR (A) T IO (R) SHI IHA € |

(C) NHe (A) TF B TSI (R) AT 2 |

(D) 3MYHYT (A) TUT HROT (R) THT T & TAT HRUT (R), IT1hT (A) i Tl =

2|

9. Fafdes fosra o ey A fmfeifga A A R TT e Tdl 2 1

(A) I8 GEINU] T Tk T2 |

(B) aaferaer farsha forshareniiant ol HuTTferd SUMTSRATST o6 |1 SAfekqia Teaer forepfira
S <ht Irgufa TE < |

(C) Saferder Tarsha o Tarsha o 32T © Ueh a1 3ATreh GHTferd SUHIEISA o |1 H shi
Tiftges wegfa aftrfaa & |

(D) aferes forsha & areod o1 S7afyy SomaTi & 2, S Sharail shi o 31T JEnsti &
T 5h T o ToTe Uftd o6 o fIw arcft € |
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7. Which of the following is not a protective function of Securities and
Exchange Board of India : 1

(A) Prohibition of fraudulent and unfair trade practices.

(B) Controlling insider trading and imposing penalties for such
practices.

(C) Promotion of fair practices and code of conduct in securities market.

(D) Undertaking measures to develop the capital markets by adapting a
flexible approach.

8. There are two Statements, Assertion (A) and Reason (R). 1

Assertion (A) : Larger the lead time, larger is the quantity of material
required to be stored and larger shall be the amount of
working capital required.

Reason (R) : Ifthe raw material do not have a record of un-interrupted
availability, higher stock levels may be required.

Choose the correct alternative from the alternatives given below :
(A) Assertion (A) is false and Reason (R) is true.
(B) Both Assertion (A) and Reason (R) are false.
(C) Assertion (A) is true and Reason (R) is false.

(D) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

9.  Which of the following statement is correct about personal selling : 1
(A) Itis an impersonal form of communication.
(B) Personal selling does not allow a sales person to develop personal
relationships with the prospective customers.

(C) Personal selling involves oral presentation of message in the form of
conversation with one or more prospective customers for the purpose
of making a sale.

(D) Personal selling refers to short-term incentives, which are designed
to encourage the buyers to make immediate purchase of a product or

service.
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10. Tr=forRaa € et 31fiepem (A) 3T R0 (R) i dfeu : 1
AP (A) : THET HRETE! § Uehdl AT 2 |
SROT (R) ;GO fIuwii bl e shl w1fer <1 sl shtat & a2 I8 gHfvad i 3
Top el foramd e o Si&l w1 W U o 36T U I S B |

i feu Tu foemeat # & wEl foehed 1 wm il

(A) AR (A) TAT HROT (R) SHT T & 9UT HROT (R), AR (A) i T& =men
2

(B) RREA (A) 1 HRU (R) QHT T2 &, SAfehd HRU (R), 3Mehed (A) h1 #&t
AT 2 |

(C) AR (A) HE &, Tl ST (R) Ted 2 |

(D) AR (A) T &, SAfeh HRT (R) HE 2 |

11. SFI=TNGR T H TRIHR IAAEAE | 1
(A) S % T I SHAT b HTAR
(B) et o T we Aifaai &
(C) UM @ |
(D) =afeTa ot &

12. TSl TR SR yIgae fafiee 3 feifa St a8t e fis = @ 8 | 3=
AT B < STaS[G hrHT 370 IcATE &A1 hl T i o foTe T8 L &l 2 | HH=TEi
o1 gfSTequT, IiEIsHT o fore stfafier o v =it s Fgfad S8 oen 3aH o a1 ot
AT T ITfed & B Hehl & | 376 ScHTEH Ta=4ieh = b ohi ENTEd i o1 R foram
2|

T gfshan & 3T <ReT @1 YgET e Aid ITeT e | W] oh
GEiiferd s o1 ok fo 2 | 1
(A) TsTTE TRl w1 fafor
(B) amiferes fsamea i og
(C) Toraretai =1 forgermon
(D) YUNIcHS ATl BT
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10. There are two statements, Assertion (A) and Reason (R) : 1

Assertion (A) : Coordination ensures unity of action.

Reason (R) : Coordination act as a Dbinding force between
departments and ensures that all action is aimed at
achieving the goals of the organisation.

Choose the correct alternative from the alternatives given below :

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) 1s correct, but Reason (R) is wrong.

(D) Assertion (A) 1s wrong, but Reason (R) is correct.

11. In an informal organisation, authority arises out of i 1
(A) Virtue of position in management
(B) Company’s rules and policies

(C) Scalar chain

(D) Personal qualities

12. HG Air Conditioner Pvt. Ltd. is lagging behind its scheduled production
target by a month. Despite a high demand, the company is struggling to
meet its production target. Even after taking measures like training of
employees and assigning additional workers and equipment to the project,
the targets could not be met. The Production Manager, now, decided to
revise the standards.

Identify the step of the controlling process under which the Production
Manager decided to revise the standards. 1

(A) Setting performance standards
(B) Measurement of actual performance
(C) Analysing deviations

(D) Taking corrective action

*66/1/1* 0 [ P.T.O. ]
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13. -1 :IRNRoN Tk SARA WHRAT & i TS ehl STUESI, IfeEiEd qul
yfafsranat & firrar 8t 2 |
HYT — 11 : AN FehrTeH i 8 Hehell 2 3T TehrrcHe o |
Frfeiaa o @ g&l foepeq o1 =94 il 1
(A) FH[TI2 TN HITIIIETL | (B) FUT [ TF EAATHUT [ 3§ |
(C) FWIANMFBAF TN T | (D) HH I 7T YA [1 THI A § |

14. T Wik feAfies T WG MRS heal & ST §5d a1 § 36 Ja9™ H g | e &l
&7 HRSH 3w, Ufed Twr g Smaarties gafeer o gusH 3R a1y & g
I e T 30 HUAM | forzemy @i 2 |

S 30 qar =e fob woh fadelt agude wroet, o mfee, sRdl STER § 36 U
Torehedi o |1 TolsT L T 2 a1 36 58 WAk b1 T hid b foT¢ F1Td H AT Shieh qell
3= TUTET 1o Uel HieeH e £ & STTehiid hid dTet Farl, s, <imig 3eane dar
FRT | TRUTTREET TewT T feIfies T shael 379+ TN ohl SHIT W@ Heh 3Tfug
39 T2 Ui oft firers ot |

Ioierd H = AT FTeRYT o Wew i [958 : 1
(A) 3TART HETEHT T QT8

(B) @R 6l 95T Ud THI H U <dTe] H HE=eh

(C) foore § gur

(D) AT ! T8 hid Ud T&ed hid b AT

15. TS il a1 TEFE(-d Seedi 1 T8 foatol ¢l @ | 98 9¥ U9 TRa 8 s §
HERIAT LT 2 |
IR T ETSA o HE ohl (6 & - 1
(A) il 1 SiggeH
(B) Tt y=ImEs
(C) ohIfHenl o1 farehrd
(D) ferepm wdl foran
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Statement -1 : Motivation is a complex process as individuals are
heterogeneous in their expectations, perceptions and
reactions.

Statement — II : Motivation can be either positive or negative.
Choose the correct option from the following :

(A) Statement I is true and Statement II is false.

(B) Statement II is true and Statement I is false.

(C) Both Statement I and Statement II are true.

(D) Both Statement I and Statement II are false.

Alfa Graphics Ltd. was a reputed Indian company which had been in
business for many years. The Chief Executive Officer of the company, Rohit
Gupta always believed in understanding the business environment as well
as responding and adapting to it.

When he found that a foreign multinational company, Leno Graphics, is
entering the Indian market with new substitutes, he prepared to meet this
threat by reducing cost and creating good quality and aesthetically
appealing layouts, advertisements, logos etc. As a result, Alfa Graphics Ltd.
was not only able to retain its own customers, but also started getting new
projects.

The point of importance of Business Environment discussed above is :
(A) Tapping useful resources.

(B) Identifying threats and early warning signals

(C) Improving performance

(D) Identifying opportunities and getting first mover advantage.

Organising provides a clear description of jobs and related duties. This
helps to avoid confusion and duplication.

The point of importance of organizing described above is :
(A) Adaptation to change

(B) Effective administration

(C) Development of personnel

(D) Expansion and growth

*66/1/1* Q [ P.T.O. ]
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16. HH -1 T g ARV 2g Sifcrl W FE wra sfafa @ fofe 9 &
el T T A TH 2 |
Y — IT : Wl ST < Hegweli o1 Sfieor Wi gfovfa we fafme o o foemregt
FEATHATH R |
FrafaRea @ 9 w2 foepea =1 === Sifve 1
(A) ST RAAMBUTITAdE | (B) ST [[ T2 TATHYT [T 2 |
(C) ®EFITMBUFIIGHI A E | (D) YA [ G A 11 HI 7Terd & |

17. ‘3= & I G glg T WTHI=IG: SR IH! W CaTd TSl @ il I8 aar i
fafir=t @mTal 3 gig i & 9 FH=d WIS 1 A q°T HHATNEAT ! ASGH 7T o 1
YA Feie |

I § Ffeid ST TATE0T T ITAM & : 1
ONBRSEIGERRIEL (B) eIl TTeROT
(C) TTTRTeh TATeroT (D) 3ATRIes TITerRoT
18. Hictq — [ H € g faqur sl STaERun3T b1 shictH — I1 1 €1 T8 3Teh! Traf-ad oanet §
ﬁilﬂ'l'—[TﬁﬁlQ: 1
e — 1 pieH — 11
(a) TG UM (i) H I = foig IcTG <hl UTer, FoaTed w
oA @ ? |
OBREEREECRIUI (i) 3EHR T hg oG STHIEIT STARIBATHI I
qPER |
(c) Teraom staymen (iil) 3G G 5 Torg skl ! oM™ 3G 36
T o foTu ATshMmS Tleh § AR HETE |
(d) THTS FFTEROT (iv) 3EH! G g oG UM ol STTARIRATHI
<1 TqfY Td THTS e B |
FrefeRaa o o g2l foeheq o1 999 Fifve

(@ () (© ()
A) Gv) @) @) @
B) ) ) @ )
© @ @ @Gy @)
D) ® @) @) @)
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16. Statement—-1 : Regulation of takeover bids by companies is one of the
Regulatory functions of Securities and Exchange

Board of India.
Statement — II : Training of intermediaries of securities market is one

of the Development functions of Securities and
Exchange Board of India.

Choose the correct option from the following : 1
(A) Statement I is correct and Statement II is incorrect.

(B) Statement II is correct and Statement I is incorrect.

(C) Both Statement I and Statement II are correct.

(D) Both Statement I and Statement II are incorrect.

17. ‘High inflation rates generally result in constraints on business enterprises
as they increase the various costs of business such as the purchase of raw
materials and payment of wages and salaries to employees etc.” The

dimension of business environment referred to above is : 1
(A) Political Environment (B) Technological Environment
(C) Social Environment (D) Economic Environment

18. Match the concepts of marketing in Column — I with their respective

explanations in Column — II : 1
Column -1 Column - I1
(a) Product concept (1) Its main focus is on quality, performance

and feature of the product.

(b) Selling concept (1) Its main focus is on satisfaction of
customer needs.

(¢) Marketing concept | (111) Its main focus 1s on aggressively
persuading buyer to purchase the
existing product.

(d) Societal concept (iv) Its main focus is on satisfaction of
customer needs and society’s well-being.

Choose the correct options from the following :
@ b © @
A) @v) (@) @) @
B) @) @ @@ @)
© @ @ @) @)
D) @ (@) @) @)
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19. HIYHT, Teh Tig o7 TEIE § H1deh & U7 Ueh % Y94 & | I8 A9 I JH
3TN ST i i aftfeafaai # Safaad v shiererqul alieh & Sl 7 | 3 aiferfadi &
HIHAT S o 170 I8 3191 sheqTiferd Ta THTcHehdT ST STITT ohid! & |

IR e § Y&y <6l Wepfdl o 9 T8e] T SRR STeT 1 &, 98 2 - 1
(A) T&Y Ueh hell o &Y T

(B) WeY U foaH s €9 T

(C) JFYUHUAHETY

(D) Y& T I3 T T ORI GHI o €9 1

20. ‘oY o fagr=il  uftfedrfa 6 6 % FTHR ye-ueh UR L Gehd & | T8 U Y74 &
gt <t frferfiea o @ fope fersraT W wepTeT STetaT & 1

(A) HE ATiEIH
(B) <

(C) affeaa

(D) YE&Id: ATEIEh

21. . "reE wh wH TE wisel Wigae fafite’ % IdeT veeue 8, S Mihd St
IATET Al B | T I T Th a8 § I bl 20% F@HT & | oifeh farshar
Tegeh, 3. WG T8 qh IcdTe H gig shi AN el <d T8 b TIehg! oh TuTarl, Tell
9 881 SATTE H T T T ol afiifora ot afteds T8 oI ATd | 39 YehR 1 Zohila
e <l Ueh WUl STTLRUM ! Jehr™T | &rar & St fafir= T & wifafafemi § we
S T B B H TETIAT HL FehalT 2 | 3

() SR Tfed TN bl =TT Ud THETST |
(ii) 3TN (i) H TEH] TS STTURU o HE h [ohea| &l (9G] I Ieoig HIT |
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19. Sadhna, a graduate of a reputed institute of management, is a successful
manager. She applies her acquired knowledge in a personalised and skillful
manner in difficult situations at work. She uses her imagination and

creativity in handling these situations.

The aspect of the nature of management highlighted in the above case is : 1
(A) Management as an Art

(B) Management as a Science

(C) Management as a Profession

(D) Management both as a Science and as a Profession

20. ‘The principles of management can be modified by the managers when the
situation so demands.” This highlights which of the following feature of

principles of management : 1
(A) General guidelines

(B) Flexible

(C) Contingent

(D) Mainly behavioural

21. P. Madhav is the production manager of ‘Trendy Style Pvt. Ltd.’, a firm
manufacturing office furniture. His objective is to increase production by
20% in the next one year. But the Sales Manager, R. Shetty does not
approve of the increase in production, till changes are brought about in
the quality of wood, locks, handles etc. to incorporate latest trends. This
kind of conflict brings to light an important concept of management that
can help to link the activities of various departments. 3

(1) Identify and explain the concept discussed above.

(11) State any two points of importance of the concept identified in (1)

above.

*66/1/1* @ [ P.T.O. ]
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(a) ‘TENOT b1 37 EIRTT | FEITOT YishaT o YW € dxdl o1 Sooid shifa | 3
JAYTT
(b) TN <6 feregl A “TISTeh STENaAT T Seoi iU | 3

HIYEE & B: HeH 08 ‘5o U1 ffies’ sl AHa T919- Jegeh e o T | T wa
THTEE Ye-4eh & &9 1 39 fafir fafsre niafafimi g sden i frenfea s g g s
fafir= spmIt & IR H FEHT THET Hich AT BT I T IR Hich HTAT b foweryor
ST, HHATIET 1 TR0 a1 foshrg 3ealg |

2oy 11 Teifiree o Te ETe aeeh o 9 § SUUER o AT HTeeH gRI ATEvgsh €9

g faeqifed <t I aTett @9 3= fafsrs nfafafern 1 oo il | 3
(a) forcfia FritsT o mge o formdl o formgati o1 Seorg HIRT | 3
g
(b) T HET i TR Ut STawIharsti i YNIfad & Tt foheal o T2
3o hINT | 3
(a) Weg % ‘THCEM’ ¥ o HE o fohral =R forgaTl 1 Seor@ I | 4
CLC)
(b) ¥l o JATATEh Bl shl Tohral TR HIHIAT T Ieoi <hITT | 4
(a) Wl o FAfRad sTer |idl ol THSIST ; 4
(i) SogeT aef
(i) Srie gt
CLEN
(b) Fr=fefega -foxfia Trcamet o augmse S wd=iaEl & 3= e & fa
ARG HA & - 4
(i) hEETEl <t arfiert
(i) TSI aTdTERT
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22. (a) Give meaning of ‘Communication’. State first two elements in the

process of communication. 3
OR
(b) State any three ‘Organisational barriers’ to Communication. 3

23. Madhwan was appointed as a Human Resource Manager in ‘Health Grow
Ltd.” six months back. As a Human Resource Manager, he has to perform
many specialised activities and duties like analyzing jobs by collecting
information about jobs and prepare job descriptions, training and
development of employees etc.

State three other specialized activities that Madhwan must perform in

addition to the above as a Human Resource Manager of Health Grow Ltd. 3
24. (a) State any three points of importance of Financial Planning. 3
OR

(b) State any three factors that affect the fixed capital requirements of a
company. 3

25. (a) State any four points of importance of ‘Directing’ function of

Management. 4
OR
(b) State any four limitations of internal sources of recruitment. 4
26. (a) Explain the following external sources of recruitment : 4

(1) Direct Recruitment
(11) Casual Callers

OR

(b) Explain the following non-financial incentives which motivate
employees for higher performance : 4

(1) Employee participation

(11) Organisational climate
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27. W W AAH ¥ | 30 ‘Torarrht g’ | wmeprgrl et <1 3tmew feam | foramh
Teh G YhoT § 3TE 3T 37191 7 38 §ga 311Uk Icgehdl o 1Y @IeTT | oifehd 918 38
TgamI o forerh w3y 61, 38 @ fob g aremerl ferarrt oft | 3| Yoht =l Sfen
IR IE YT T 3Hh SUX UHT i Hohd A&l AT foh I8 Tt weprerd & 31 HE=en |
39 39 fotu ‘forarrt grom’ @ wvaeh foran | “foarrht gre|’ o 8RR A 39 forw amn
it 3R T IRt ferarrt arfefer fsm < wra qid 99 < |

ST et H =i < SuwIeRT STRRRRT ohl TE=IT-T Te WSSy | 4

28. ‘% Tk Teh AR Sociiod (HhH gigrar Al) i 11 BT 3TW & a1 3w
2024 T Tpa1 TRIT | TR IS AT IATSId BT T AT | I§ AU SHIHR T R HEAT
TTEal o7 3TN 39 AL 3R fashm o foTu 38 T 100 U 1 JAraweehar off |
3k g’ b T SRR AR 7 foreir vereas o foram-fomst fopan frem gema fean
Toh Ueh UHT STSIR 2 ST -TU ITHT bl AT i AT T o1 o™ o & fote fem
I ffer w1 wfaufadt @ frfme g seawalet @ Safiml it 3R gsaaia s |
TR LT ¢ |
3 T’ o Ja-e A ot foram o6 3 it w1 e o fote vaeft IR 2 200 ufd 3w Hr
T frasTep! <1 THaT 3791 1 fET B |
(i) U S9N % 39 YhR 1 AT SaTsy, fSrdeh WTeqm § 4 deh’ 4 U U

Teream 5 fotw =i T SfeT <61 fAur fora |
(i) SYUH (1) T T8 T STSIR hi fohegl oI T3] ohl Scoig <hifsu | 4

29. ORI S ‘o Ul |gd foifies’ H fqur Jeraeh g | 3Heh UTH IR hHATE! I Th 998 7
St 3G 3TEH SR BT & — HreA1, {aw, Y9 a1 WEd | et qof fae swermrh
FHHIR & s Io qUT A1 h Aihd TR § | Y IR 954 Hed § B R 8 3R
AR 379 AT <l T HL TG & | 70 S 3o 37 Foamet o foru 378 queepd st
ITEAT & | 98 GHET & fob et HISAT § STaeehd131] sl Ueh 3TshH fem™ 8T § | 37d:
I Teh HUAT <hl STTETIhT oh T hl TEAHI Alleh 98 3ra TSN h Teh |
Teh TS! UM FAISHT <h A1 1ot R e 6l il Tomrft o6t § 71 Srefeh Io qe wrad
I TR TS A |
() Sure Feufe & o S gRy STiSITd ST TS Ui Shi SRR AI3tl Sl TgETY

Td IehT Jeeig HIT |
(i) UE fopdl & AT 1 Seoig SHIfY S8 W Al 1 AR - Al
g i@ 2 | 4
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27. Abha had guests at home. She ordered vegetable, biryani from ‘Biryani
House’. The biryani came in a beautiful packaging and Abha opened it
with lot of excitement. However, when she started serving biryani to the
guests, she realised that it was non-vegetarian. She checked the package
and noticed that there was no indication whether it was a vegetarian or
non-vegetarian biryani. She contacted ‘Biryani House  for the same. The
manager at ‘Biryani House’ apologized and immediately sent a vegetarian
biryani along with complimentary sweet dish.

Identify and explain the two consumer rights discussed in the above case. 4

28. ‘Tech Work’ an Artificial Intelligence (AI) startup started in 2024. It was
earning good profits. It wanted to expand its business and for its research
and development, it required T 100 crores.

The Chief Executive Officer of ‘Tech Work’ consulted the Finance
Manager who suggested that there is a market which facilitates transfer
of investible funds from savers to entrepreneurs seeking to establish new
enterprises or expand existing ones through the issue of securities.

The management of ‘Tech Work’ decided to raise funds from the investors
by issuing equity shares @ % 200 per share for the first time.

(1) Name the type of capital market through which ‘Tech Work’ decided
to raise funds for its expansion.

(11) State three features of the market identified in (1) above. 4

29. Ganesh Jain is the Marketing Manager at ‘KL Foods Ltd’. He has a team
of four employees working under him — Kavya, Ritesh, Pooja and Madhav.
Kavya and Ritesh are temporary employees while Pooja and Madhav’s job
is permanent. All four of them have been working hard and consistently
met all targets. Ganesh Jain wanted to reward them for their good
performance. He understood that in all human beings, there exists a
hierarchy of needs. So, he identified the need level of each of the
employees to provide motivation to them.

Kavya and Ritesh were made permanent in the job with a good pension
plan while Pooja and Madhav were given an autonomy status.

(1) Identify and state the need of employees recognized by Ganesh Jain
in the above case.

(11) State any two assumptions on which Maslow’s Need Hierarchy
Theory is based on. 4
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30. @t fafiee ook oSt O S ST SEq3Ti shi hFo-1 & | $Heh STUR] U1 WA § el
BUE | 3o STTeRRIRT 7oAt 370 e & wrea Frafia s feit E |

&t % fetfide oFmar oy ITfid T W 8 | AT S YT o foTe et 1 SeeH
ST <61 rerfirehar shi €I 3 T@el 8 | HTEROTaET 38 U I8 =red & fob gfden
HU-H-hT Teh TfTea RN T T 17T <6 &9 4 R ST, 37 Hrat Sfaas e
6 e Bl B |

31 |, SN ot 1 foref yerees 2, fashm o SATeeeh 31aed <l UgaH 6l 7 | 384
&7 SR ATehil i germa feam & fob e wmmsr <t =i st 6t e STevs
Frasm & T & forw @i <1 wfaenfa fopan sme | soeh foe e SR st 3
ST <l Teh HTHTRY SH T (319 93 ) FoIH b1 Fory foram |

(i)  Sed =T AT i sl THTferd shid STl @) Teehi sl g |
(i) B Sl 3= TZh] 1 Jooid hITSTT S| Teh HFTl o AT (0fg shi guifordshid & | 4

31. (a) UM Y4 (Hfeiad frgr=ii o a9gmsy : 6
(i) H e
(i) GEe
(iii) TEA- &
Jrerar
(b) ‘WY % ILTAT I WISHTCH, TTHTIIR Td AT el H afiehd fohdl ST Fehal
I EREIEE I el 6

32. (a) Wewu % TR ®E % vew & fmfefaa fagstt @ awemsu - 6
() TrRISH fréem sh e tar 2 |
(i) TRsH, T9-Tada fomml = Ticafad war |
(iii) T, SATTTeaar 61 Sifaw ol 0 Ha 2 |
et
(b) 3£, A= Td &1 I IISHT & Tehi o 9 H THATET | 6
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30. VK Ltd. is a fast moving consumer goods company. It has shareholders
spread all over India. Most of its shareholders depend upon a regular
income from their investment.

VK Ltd. has been earning consistent profits. The management of the
company keeps in mind the preference of the shareholders regarding
payment of dividend. Since its shareholders, in general, desire that
atleast a certain amount is paid as dividend to them every year, the
company declares dividend every year.

Atul, the Finance Manager of the company identified promising growth
opportunities. He suggested to the Chief Executive Officer to retain the
earnings to finance the required investments instead of declaring
dividend every year. For this, the Chief Executive Officer decided to call a
General Body Meeting of the shareholders.

(1) Identify two factors affecting dividend decision discussed above.

(11) State two other factors that affect the dividend decision of a
company. 4

31. (a) Explain the following principles of General Management : 6
(1) Scalar chain
(11) Equity

(1) Initiative

OR
(b) ‘Objectives of Management can be classified into organisational,
social and personal objectives.” Explain these objectives. 6

32. (a) Explain the following points of importance of ‘Planning’ function of
management : 6

(1) Planning provides directions.
(11) Planning promotes innovative ideas.
(111) Planning reduces the risk of uncertainty.
OR
(b) Explain ‘Objectives’, ‘Rule’ and ‘Budget’ as types of plans. 6
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33. TG <Y it ol sgM o 7w €t St fefies 3, S U 3-id SR o 8, Teh 384
el shifashrt SR foesferd 1 8 | 98 TT3fre 3o aTefl R < SfFl & 3T § 3
gigersies YA & oI 35k gaTst Shl atg tfiHa v St foemard € | =i i sreafes
gfursies & § 3= urer arett qre | fess fr mn g |
30 34 dTeft SR H1 fafyre fomivar a8 ? o6 sue fmior wwa & fopam Smom 3R =g
gt (fosteft) o - Sa—5e o1 3Su=nT ot it 3T afters o Tt arem o
JTTEET M |
39 Joft 7 €1 St feafies ot wem wieqor wienfa fireT 715 ® | 3Eeh! shiwa 3 2.5 e Ffvem
1 71 7, SHEIT <l 374} TR ST e AT YR 31T 3eATie o IR H fo o 2 fep
ITeRIT ST D IHTE b ool o T & Hh |
IS ITefl SR I AT ST bl ITeTeH LA o forw &t Sft fafies 37 fashana
JTET WA < T T HEIRRI] bl HERIdT SATTE FGH i <hi TThHAT H & S ST
e U5gd Hehd % |
R 36T i o ToTe ARG i o forw €i <t feafies = =g folg o= 2 o6 a5 fefves
Toom sifiem, s fagfa 9en yamaemell Sfeaal va Wl g WesHl 1 3T
|
Iqierd ferfa 0 <€ <ft fetfies grRT 319t STeTR SRl ST 4R <Rt o Tote 39T & e g
Hohi o Ueh B shl Tl hI TS 8 |
SUe ITESe W Tl ICA Hid g HEEh % UEHINT Ud HHETST | 6

34. e o ferfies’ fova O aed <t SusierR aEqat <l hrafEi § | Teh el shi 370t
Rl o1 ST @t B | S5 TSI G 1 TESTe SHeh 3e9di sl WIfeT § Hagral
AT & I 3Heh e o Traor o |1 Ueh Uferd H Tetal 8 | 379 HISHTCHeh &rd | a1
% g1 Tafire Scute forvm 8 — g’ qur B |
WS h1 C@d BT P TRETHI ohl 3T o ToTT 7T ST hirgd ST I8! & diieh
IZ SIS T 39 Al 1 SHIC T@ Heh | 3191 TR AISHT o Teh 9T o &9 H g ek
s T ‘S -ad &1 H TolST ohid shi ST s &l 8 |
Q)  TIe Tt TAfies’ o HeATcHS @ ohl Y8 |
(i) SolFE & T Jaw i 9 AT B @ F @ 5 VI o ffiee’ %

HISHTCH @I Sl FTE §15T |
(i) YU (i) T S 7T HSHTCH G o bR o fehral i SATHI ol oot shifaTT | 6
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33. DG Ltd., an E-plane car company has developed a revolutionary flying car
for passenger mobility. This hybrid flying car can accommodate upto two
persons and features innovative wing like doors for comfortable entry. The
seats are designed for utmost comfort, crafted from high quality
materials.

The distinguishing feature of this flying car is that its production will be
in India and it will utilise biofuel alongside electricity, ensuring a
sustainable mode of transportation.

DG Ltd. has obtained the first testing approval for its category. Priced at
% 2.5 crores, the company has to take decisions in respect of discounts to
customers, credit terms etc., so that the customers perceive the price to be
in line with the value of the product.

To make the flying car available to the target customers, DG Ltd. is in the
process of selecting dealers or intermediaries to reach the customers,
providing support to the intermediaries etc.

To communicate the availability, features, merits etc. of the product to the
target customers and persuade them to buy the flying car. DG Ltd.
decided to go in for digital marketing campaigns, press releases and
demos conducted by influencers and journalists.

The above case describes the combination of elements used by DG Ltd. to
prepare its market offering.

Quoting lines from the above para, identify and explain the elements. 6

34. ‘Royal Glaze Ltd. continues to maintain its position as one of the largest
consumer goods companies in the world. Its organisational structure is
designed to facilitate the achievement of its objectives in alignment with
its vision statement. The company maintains two distinct product
divisions in its organisational structure — ‘Foods’ and ‘Home Care’.
Looking ahead, the company is focusing on embracing changes so that it
can continue to be the market leader. As part of its expansion plans, it is
planning to venture into the electronics segment in the near future.

(1) Identify the organisational structure of ‘Royal Glaze Ltd’.

(11) Draw the organisational structure chart of ‘Royal Glaze Ltd.’
considering its future plans to enter into Electronics segment.

(111) State any three advantages of the type of organisational structure
drawn in (i1) above. 6
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